





### Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

# **PURCHASE REQUEST**

PPMP No.: 118-1-751-2023-7-0-0

Dept./Office: DABE

Section/End-User: Lorbert G. Mazo

Funding Source: Special Trust Fund

PR No.: STF-2023-07-01126

Date: 07-07-2023

Category: Construction and Electrical Supplies

Project Title/Code: DABE-2023

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	29 pieces High Speed Steel Titanium drill sets	sets	1	2,000.00		2,000.00

#### Specification:

Material

Steel

Finish Type

**Titanium** 

Shank Type

Straight

Cutting Angle String 118 Degrees

### About this item

- Titanium Nitride drill bits run cooler, drill smoother and last longer than standard bits
- · High speed steel 118 deg. point
- 29 Piece Set Size range: 1/16 in. to 1/2 in. by 64ths
- · Titanium Nitride Coated (TiN or TiNi)
- Sizes: 1/16 in., 5/64 in., 3/32 in., 7/64 in., 1/8 in., 9/64 in., 5/32 in., 11/64 in., 3/16 in., 13/64 in., 7/32 in., 15/64 in., 1/4 in., 17/64 in., 9/32 in., 19/64 in., 5/16 in., 21/64 in., 11/32 in., 23/64 in., 3/8 in., 25/64 in., 13/32 in., 27/64 in., 7/16 in., 29/64 in., 15/32 in., 31/64 in., 1/2 in.

2	Acrytex Cast	gal	5	750,00	3,750.00
3	Auto Darkening welding helmet	pcs	2	4,000.00	8,000.00
					0,000.001

#### Specification:

Viewing Field 92 x 41 mm ? Shade Control Light States: DIN 4 Dark States: DIN 9-13 Outside Adjustment ? Switching Time Light-Dark: 0.3 ms ? Delay Time Dark-Light: 0.1-0.8 sec ? Sensitivity & Delay Time Internal Adjustment ? UV/IR Protection Up to Shade DIN16 ? Operating Temperature -5°C to +55°C ? Power Supply Solar Cells Assist, Inside Lithium Batteries ? Lens Control Auto-On, Auto-Off 15 Minutes (When Not on Welding) ? Helmet Material PP ? Total Weight 435g

4	Blade, Circular saw	pcs	1	3,000.00	3,000.00

#### Specification:

Specification:

12" x 300mm holes x 36T

5 Circular Saw Blade, 30T for Wood pcs 1 2,500.00 2,500.00

Specification:

?Heavy Duty and Durable Carbide Steel

?10" Diameter

?1" Arbor Hole

_					
6	Cutting Disc, 4" (Super Thin)	pc	25	70.00	1,750.00
7	Flap Disc for Angle Grinder, 4"	рс	20	85.00	1,700.00
8	Good Lumber, 2"x 6" x 12'	length	5	1,400.00	7,000.00
9	Grinding Disc, 4"	pcs	20	80.00	1,600.00
10	Heavy Duty Electric Hand Drill	рс	1	2,500.00	2,500.00

### Specification:

### Specification overview

- Rated power input 320 W
- No-load speed 0 4 / 200 rpm
- · Weight without cable 1 kg
- Chuck capacity 6,5 mm
- Length 204 mm
- Width 58 mm
- · Height 174 mm

11	Lacquer Thinner, 4L	gallons	4	630.00	2,520,00
	Magnetic Contactor 3-Phase 40A (100 amp)	pcs	1	2,500.00	2,500.00
13	Mini claw hammer	рс	10	400.00	4,000.00

## Specification:

handle: 12 cm

Head/claw: 8 oz

Material: Stainless head/claw, handle with rubber

The Real Property lies					
14	Paint, Quick Dry Enamel, White	gal	5	890.00	4,450.00
15	Round file, 3/16" x 7-7/8" for Chainsaw	pcs	3	300.00	900.00
16	Safety Googles Eye Protection	piece	5	260.00	1,300.00

#### Specification:

Comfort Features Adjustable Temples, Brow and nose bridge, Integrated sideshields, Polycarbonate lens

Eyewear Range Economy

Frame Material Plastic

Frame Style/Type Frameless

Lens Coating Anti-Fog

	Lens Color Clear  Product Series Plus  Product Type Safety Glas	sses					
17	Solar charge controller 100amps	unit	1	1,500.00	1,500.0		
	Specification:						
	?Solar charge controller ?Charge current; 100amps ?Battery voltage: 12v/24v auto adapt						
18	Solar Power Inverter, 12v to 220v (5kw)	unit	1	2,500.00	2,500.0		
	Specification:						
	Input voltage : 12v/24v						
	Peak power : 5000watts						
	Output Voltage: 110v/220v						
19	Steel Brush	pcs	10	70.00	700.00		
20	Welding Apron with Sleeves & Bib, (Leather)	set	5	1,000.00	5,000.0		
	?Heavy Duty and Good quality leather ?Flame/Heat/Abrasion Resistant Weldin	ng Protection	on				
21	Welding Gloves	pair	5	500.00	2,500.00		
	?ISO and CE certified ?EN12477 Type-A protection for welding and thermal jobs ?Suitable for stick and MIG welding, as well as torch cutting and grinding ?Premium split cowhide leather and welted seams ?Cotton lining provides thermal insulation ?Long cuff extends protection over the forearm.						
22	Welding Rod, E-308-16 (Stainless Steel), 1/16", 1kg	kgs	5	600.00	3,000.00		
	Specification:  Size: 1.6mm or 1/16"  Quantity: 1 kilo  Electrode Length: 275mm  Current Amperes: Flat: 20 to 50  AWS Specification: AWS A5 4 F						

- AWS Specification: AWS A5.4 E308-16. Other Specification: DIN ETI 19926
- For shield metal arc welding of all types of stainless steel applications.
- NSS-308 is a lime-titania type electrode that shows 18% Cr 8% Ni austenitic weld metal, virtually free from spatter
- · Superb usability and corrosion resistant
- Excellent slag detachability
- Widely used for various chemical and food processing industry and buildings in austenitic stainless steel job

- Peeling-off of the slag is very good
- Ideal for welding of 18/8 grade of stainless steels including 301, 302, 303, 304, 304L, 304LN (nitrogen bearing), and titanium stabilized 321. Also used for chemical and food processing industries, such as breweries, pharmaceutical equipment, and nuclear engineering
- Manufactured in the Philippines

	TOTAL			
Purpose: For	workshop			64,670.0
Checked by:	Mahmo		Funds Available:	1
T	MARCELO T. ABRER	A	ALIC	M. FLORES FF 09
	NG - Construction and Electrica Requested by:	Noted by:	HEAD, E	BUDGET OFFICE
Signature: Printed Name:	LORBERT G. MAZO	Que la companya de la companya della companya della companya de la companya della	P. DE PADUA	Approved by:
Designation:	END USER		ROJECT LEADER	PRESIDENT, VSU